Election Summary Report 2002 PRIMARY ELECTION, YAVAPAI COUNTY, AZ Summary For Clarkdale - 104, All Counters, All Races OFFICIAL FINAL RESULTS

Registered voters 1706 - Cards Cast 828

Num. Report Precinct 1 - Num. Reporting 1

US REP 1 (DEM)	DEM		
, ,		Total	
Number of Precincts		1	
Precincts Reporting		1	100.00%
Vote For		1	
Times Counted		328/494	66.40%
Total Votes		319	
CORDOVA, GEORGE	DEM	15	4.70%
DUVAL, FRED	DEM	56	17.55%
HARTSTONE, ROGER	DEM	1	0.31%
MARTINEZ, SAM	DEM	20	6.27%
PRESCOTT, DIANE	DEM	163	51.10%
UDALL, STEPHEN	DEM	59	18.50%
WATCHMAN, DERRICK	DEM	4	1.25%
Write-in Votes		1	0.31%

US REP 1 (REP)	REP		
, ,		Total	
Number of Precincts		1	
Precincts Reporting		1	100.00%
Vote For		1	
Times Counted		491/795	61.76%
Total Votes		470	
EVERETT, ALAN	REP	91	19.36%
HAY, SYDNEY ANN	REP	114	24.26%
RENZI, RICK	REP	131	27.87%
STAFFORD, DAVID	REP	7	1.49%
TENNEY, LEWIS NOBLE	REP	54	11.49%
WHITING, BRUCE	REP	72	15.32%
Write-in Votes		1	0.21%

US REP 1 (LBT)	LBT		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.00%
Vote For		1	
Times Counted		4/10	40.00%
Total Votes		4	
FERNANDEZ, ANDY	LBT	2	50.00%
PORR, EDWIN	LBT	2	50.00%
Write-in Votes		0	0.00%

GOVERNOR (DEM)

		Total	
Number of Precincts		1	
Precincts Reporting		1	100.00%
Vote For		1	
Times Counted		328/494	66.40%
Total Votes		320	
GUTIERREZ, ALFREDO	DEM	59	18.44%
NAPOLITANO, JANET	DEM	188	58.75%
NEWCOMB, MIKE	DEM	10	3.13%
OSTERLOH, MARK	DEM	61	19.06%
Write-in Votes		2	0.63%
GOVERNOR (REP)	REP		
		Total	
Number of Duncingto		1	

GOVERNOR (REP)	REP		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.00%
Vote For		1	
Times Counted		491/795	61.76%
Total Votes		480	
BAYLESS, BETSEY	REP	175	36.46%
SALMON, MATT	REP	208	43.33%
SPRINGER, CAROL	REP	96	20.00%
Write-in Votes		1	0.21%

GOVERNOR (LBT)	LBT		
, ,		Total	
Number of Precincts		1	
Precincts Reporting		1	100.00%
Vote For		1	
Times Counted		4/10	40.00%
Total Votes		4	
FALLON, GARY	LBT	0	0.00%
HESS, BARRY	LBT	3	75.00%
Write-in Votes		1	25.00%

STATE SENATOR 1 (REP)	REP		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.00%
Vote For		1	
Times Counted		491/795	61.76%
Total Votes		390	
BENNETT, KEN	REP	388	99.49%
Write-in Votes		2	0.51%

STATE SENATOR 1 (DEM)	DEM		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.00%	
Vote For	1		
Times Counted	328/494	66.40%	
Total Votes	308		

	DONAHUE, ROBERT	DEM	37	12.01%	
	KNIGHT, DAWN	DEM	106	34.42%	
i	O'DONNELL, JOHN	DEM	164	53.25%	
i	Write-in Votes		1	0.32%	
	STATE SENATOR 1 (LBT)	LBT			
1			Total		
1	Number of Precincts		1		
i	Precincts Reporting		1	100.00%	
1	Vote For		1		
i ∥	Times Counted		4/10	40.00%	
1	Total Votes		1		
	Write-in Votes		1	100.00%	
1	ST REP 1 (DEM)	DEM			
1			Total		
1	Number of Precincts		1		
1	Precincts Reporting		1	100.00%	
1	Vote For		2		
1	Times Counted		328/494	66.40%	
1	Total Votes		265		
1					

ST REP 1 (DEM)	DEM		
, ,		Total	
Number of Precincts		1	
Precincts Reporting		1	100.00%
Vote For		2	
Times Counted		328/494	66.40%
Total Votes		265	
CAMAROT, HENRY J.	DEM	262	98.87%
Write-in Votes		3	1.13%

ST REP 1 (REP)	REP		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.00%
Vote For		2	
Times Counted		491/795	61.76%
Total Votes		615	
MASON, LUCY	REP	189	30.73%
O'HALLERAN, TOM	REP	282	45.85%
STRAWN, THOM	REP	143	23.25%
Write-in Votes		1	0.16%

ST REP 1 (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.00%
Vote For	2	
Times Counted	4/10	40.00%
Total Votes	2	
Write-in Votes	2	100.00%

SEC OF ST (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.00%
Vote For	1	
Times Counted	491/795	61.76%

Total Votes		429	
BREWER, JAN	REP	215	50.12%
COLLINS, SHARON	REP	92	21.45%
DiCICCIO, SAL	REP	121	28.21%
Write-in Votes		1	0.23%
SEC OF ST (DEM)	DEM		
,		Total	

SEC OF ST (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.00%
Vote For	1	
Times Counted	328/494	66.40%
Total Votes	250	
CUMMISKEY, CHRIS	DEM 247	98.80%
Write-in Votes	3	1.20%

SEC OF ST (LBT)	LBT		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.00%
Vote For		1	
Times Counted		4/10	40.00%
Total Votes		4	
NOTTINGHAM, SEAN	LBT	3	75.00%
Write-in Votes		1	25.00%

ATTORNEY GEN (REP)	REP		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.00%
Vote For		1	
Times Counted		491/795	61.76%
Total Votes		420	
GREENE, JOHN	REP	136	32.38%
ROBBERSON, FOSTER	REP	71	16.90%
THOMAS, ANDREW P.	REP	213	50.71%
Write-in Votes		0	0.00%

ATTORNEY GENERAL (DEM)	DEM		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.00%
Vote For		1	
Times Counted		328/494	66.40%
Total Votes		272	
GODDARD, TERRY	DEM	270	99.26%
Write-in Votes		2	0.74%

ATTORNEY GENERAL (LBT	.')
-----------------------	-----

Number of Precincts		1	
Precincts Reporting		1	100.00%
Vote For		1	
Times Counted		4/10	40.00%
Total Votes		4	
KAHN, ED	LBT	4	100.00%
Write-in Votes		0	0.00%
STATE TREASURER (REP)	REP		
· · · · · · · · · · · · · · · · · · ·		Total	
Number of Precincts		1	
Precincts Reporting		1	100.00%
Vote For		1	
Times Counted		491/795	61.76%
Total Votes		409	
PETERSEN, DAVID	REP	247	60.39%
PETRENKA, RICHARD	REP	162	39.61%
Write-in Votes		0	0.00%
STATE TREASURER (DEM)	DEM		
offile Humboner (bein)	Dun	Total	
Number of Precincts		1	
Precincts Reporting		1	100.00%
Vote For		1	
Times Counted		328/494	66.40%
Total Votes		248	
SOLOMON, RUTH	DEM	246	99.19%
Write-in Votes		2	0.81%

STATE TREASURER (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.00%
Vote For	1	
Times Counted	4/10	40.00%
Total Votes	1	
Write-in Votes	1	100.00%

SUPT OF PUB INST (DEM)	DEM		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.00%
Vote For		1	
Times Counted		328/494	66.40%
Total Votes		274	
BLANCHARD, JAY	DEM	180	65.69%
RICH, ROD	DEM	92	33.58%
Write-in Votes		2	0.73%

		Total	
Number of Precincts		1	
Precincts Reporting		1	100.00%
Vote For		1	
Times Counted		491/795	61.76%
Total Votes		448	
BEE, KEITH	REP	94	20.98%
HORNE, TOM	REP	218	48.66%
MOLERA, JAIME	REP	136	30.36%
Write-in Votes		0	0.00%

SUPT OF PUB INST (LBT)	LBT	
, ,	Total	
Number of Precincts	1	
Precincts Reporting	1	100.00%
Vote For	1	
Times Counted	4/10	40.00%
Total Votes	4	
ZAJAC, JOHN C.	LBT 4	100.00%
Write-in Votes	0	0.00%

ST MINE INSPECTOR (DEM)	DEM		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.00%
Vote For		1	
Times Counted		328/494	66.40%
Total Votes		244	
HALLOCK, KEN	DEM	243	99.59%
Write-in Votes		1	0.41%

ST MINE INSPECTOR (REP)	REP		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.00%
Vote For		1	
Times Counted		491/795	61.76%
Total Votes		365	
MARTIN, DOUGLAS K.	REP	365	100.00%
Write-in Votes		0	0.00%

ST MINE INSPECTOR (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.00%
Vote For	1	
Times Counted	4/10	40.00%
Total Votes	1	
Write-in Votes	1	100.00%

CORP COMM 2005 (DEM)	DEM			
		Total		
Number of Precincts		1		
Precincts Reporting		1	100.00%	
Vote For		2		
Times Counted		328/494	66.40%	
Total Votes		349		
CUNNINGHAM, GEORGE	DEM	177	50.72%	
JAMES, ROLAND	DEM	172	49.28%	
Write-in Votes		0	0.00%	
CORP COMM 2005 (REP)	REP			
		Total		
Number of Precincts		1		
Precincts Reporting		1	100.00%	
Vote For		2		
Times Counted		491/795	61.76%	
Total Votes		581		
BUSTER, JIM	REP	217	37.35%	
GLEASON, MIKE	REP	169	29.09%	
HATCH-MILLER, JEFF	REP	194	33.39%	
Write-in Votes		1	0.17%	

Write-in Votes	1	0.17%
CORP COMM 2005 (LBT)	LBT	
CORT COMMI 2003 (ED1)	Total	
Number of Precincts	1	
Precincts Reporting	1	100.00%
Vote For	2	
Times Counted	4/10	40.00%
Total Votes	1	

Write-in Votes

1

100.00%

CORP COMM 2007 (DEM)	DEM		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.00%
Vote For		1	
Times Counted		328/494	66.40%
Total Votes		239	
WALSH, JAMES P.	DEM	237	99.16%
Write-in Votes		2	0.84%

CORP COMM 2007 (REP)	REP		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.00%
Vote For		1	
Times Counted		491/795	61.76%
Total Votes		394	
IRVIN, JIM	REP	239	60.66%
VOSS, ROBERTA	REP	155	39.34%

	Write-in Votes	0	0.00%	
	CORP COMM 2007 (LBT)	LBT		
	NT 1 CD '	Total		
	Number of Precincts	1	100.000/	
	Precincts Reporting	1	100.00%	
	Vote For Times Counted	1	40.000/	
	Times Counted Total Votes	4/10 1	40.00%	
	Total votes	1		
	Write-in Votes	1	100.00%	
	JUDGE SUP CRT 1 (DEM)	DEM		
	Number of Dungingto	Total		
	Number of Precincts	1	100 000/	
	Precincts Reporting Vote For	1	100.00%	
	vote For Times Counted	1 220/404	CC 400/	
	Times Counted Total Votes	328/494	66.40%	
	Total votes	4		
	Write-in Votes	4	100.00%	
	HIDGE CHD CDT 1 (DED)	REP		
	JUDGE SUP CRT 1 (REP)	Total		
	Number of Precincts	1		
	Precincts Reporting	1	100.00%	
	Vote For	1	100.0070	
	Times Counted	491/795	61.76%	
	Total Votes	364	01.7 070	
	MACKEY, DAVID L.	REP 364	100.00%	
	Write-in Votes	0	0.00%	
	HIDOE CHE COURTS (DESC	DEM		
	JUDGE SUP COURT 2 (DEM)	DEM Total		
	Number of Precincts	10tai 1		
	Precincts Reporting	1	100.00%	
	Vote For	1	100.0070	
	Times Counted	328/494	66.40%	
	Total Votes	5	50. 1 0/0	
	Write-in Votes	5	100.00%	
	HIDGE CHD COURT 2 (REB)	REP		
	JUDGE SUP COURT 2 (REP)	REP Total		
	Number of Precincts	1		
4 []	1.amoci of Ficcincto	1		

		Total	
Number of Precincts		1	
Precincts Reporting		1	100.00%
Vote For		1	
Times Counted		491/795	61.76%
Total Votes		365	
BRUTINEL, ROBERT	REP	364	99.73%
Write-in Votes		1	0.27%

•	Total	<u> </u>
Number of Precincts	1	
Precincts Reporting	1	100.00%
Vote For	1	
Times Counted	328/494	66.40%
Total Votes	4	
Write-in Votes	4	100.00%
JUDGE SUP COURT 3 (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.00%
Vote For	1	
Times Counted	491/795	61.76%
Total Votes	361	
STERLING, JANIS ANN	REP 360	99.72%
Write-in Votes	1	0.28%

JUDGE SUP COURT 5 (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.00%
Vote For	1	
Times Counted	328/494	66.40%
Total Votes	4	
Write-in Votes	1	100.00%

JUDGE SUP COURT 5 (REP)	REP		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.00%
Vote For		1	
Times Counted		491/795	61.76%
Total Votes		350	
KIGER, WILLIAM	REP	350	100.00%
Write-in Votes		0	0.00%

JUDGE SUP COURT 6 (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.00%
Vote For	1	
Times Counted	328/494	66.40%
Total Votes	4	
Write-in Votes	4	100.00%

JUDGE SUP COURT 6 (REP)	REP
	Total
Number of Precincts	1
Precincts Reporting	1 100.00%

	Vote For		1	
	Times Counted		491/795	61.76%
	Total Votes		352	
	LINDBERG, THOMAS	REP	352	100.00%
	Write-in Votes		0	0.00%
	CLERK SUPERIOR COURT (DEM)	DEM		
			Total	
	Number of Precincts		1	
	Precincts Reporting		1	100.00%
ı	Vote For		1	
ı	Times Counted		328/494	66.40%
	Total Votes		4	
	Write-in Votes		4	100.00%
Г				
. 1	CLEDIZ CUDEDIOD COUDT (DED)	DED		

CLERK SUPERIOR COURT (REP)	REP	
` <i>'</i>	To	tal
Number of Precincts		1
Precincts Reporting		1 100.00%
Vote For		1
Times Counted	491/7	95 61.76%
Total Votes	3	63
HICKS, JEANNE	REP 3	63 100.00%
Write-in Votes		0.00%

JP VERDE VLY 2 (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.00%
Vote For	1	
Times Counted	328/494	66.40%
Total Votes	7	
Write-in Votes	7	100.00%

JP VERDE VLY 2 (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.00%
Vote For	1	
Times Counted	491/795	61.76%
Total Votes	464	
BUTNER, JOE	REP 242	52.16%
LUNDY, BILL	REP 222	47.84%
Write-in Votes	0	0.00%

CONSTABLE VERDE VLY 2 (DEM)	DEM
	Total
Number of Precincts	1
Precincts Reporting	1 100.00%
Vote For	1

Times Counted Total Votes	328/494 3	66.40%	
Write-in Votes	3	100.00%	

CONSTABLE VERDE VLY 2 (REP)	REP		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.00%
Vote For		1	
Times Counted		491/795	61.76%
Total Votes		370	
ELLIS, KEN	REP	369	99.73%
Write-in Votes		1	0.27%

PC104 (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.00%
Vote For	5	
Times Counted	328/494	66.40%
Total Votes	230	
WILLIAMS, PATRICIA	DEM 225	97.83%
Write-in Votes	5	2.17%

PC104 (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.00%
Vote For	8	
Times Counted	491/795	61.76%
Total Votes	7	
Write-in Votes	7	100.00%

BCC REFERENDUM		
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.00%
Vote For	1	
Times Counted	828/1706	48.53%
Total Votes	733	
YES	506	69.03%
NO	227	30.97%